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Naam: Datum: Score:
(2x + 1)(6x% — 6x— 2) — Bx + 1)(dx— 1) (3x — 5)(2x% — 3x— 4) — (6x + 4)(2x — 4)
(6x— 1)(5x + 5)(6x + 2) (3x— 3)2x* — 6x— 6) + (5x — 1)(x — 6)
(5x+ 3)(x+ 1)(dx + 6) (2% — 2)(6x + 4) + 52 +3x + 3
(2x — 4)(6x + 1)(x — 5) (6 = 5)(x—3)+ 4% —6x—6
(x— 2)(2%% — 6x — 4) + (x — 6)3x + 3) (3x + 4)(6x + 4)(x — 6)
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Naam:

2x+ 1)(6x> —6x—2)— Bx + D(@x— 1)
12 = 18x% — 1lx— 1

(6x— 1)(5x + 5)(6x + 2)
180x° + 210x” + 20x — 10

(5x+ 3)(x+ 1)(4x + 6)
20x° + 62x° + 60x + 18

2x—4)(6x+ 1)(x—5)
12x° — 82 + 106x + 20

(x— 2)(2x% — 6x— 4) + (x — 6)(3x + 3)
26 — 7 = Tx— 10

Datum: Score:

(3x— 5)(2x% — 3x— 4) — (6x + 4)(2x — 4)
6x° — 31x% + 19x + 36

(3x— 3)(2x% — 6x— 6) + (5x — 1)(x — 6)
6x> — 19x% — 31x + 24

(2% = 2)(6x+4) + 5% + 3x + 3
1223+ 138 —9x— 5

(6% — S)(x—3) + 4% —6x— 6
6x° — 14x° — 11x+ 9

(Bx + 4)(6x + 4)(x — 6)
18x° — 72x% — 200x — 96
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